Year 2 Homework

Tuesday 5™ March 2024 (to be handed in by Monday 11" March 2024)

Maths - Try one of the challenges below to master your knowledge of money.
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Look at the cost of the fruit.
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1) Ned buys the apple and the grapes.
How much does he spend?

2) Jess buys an orange and a banana.
How much does she spend?

3) How much more does a banana cost
than an apple?
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4) What is the difference between the'"
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cost of an orange and grapes: 3
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Orange

True or false? Explain your reasoning. N/

The pencil case and the notebook
cost £10 altogether.

Ned |

The markers cost £2 more than the
pencil case.

Explain the mistake.

There is 38p
altogether.




Red

Jess and Ned both bought two items
from the shop. What did they buy?

I spent £14.

» I spent 90p.

Find all possibilities.



Literacy:
Have a go at the activities below to practice using contractions.

Remember - We use apostrophes when using contractions. Apostrophes take the
place of letters that have been left out.

Activity One:

Find the contracted version for each set below:

They will Will not

Are not He has

Did not They are

It is I am

We are We will

You have Should have
Activity Two:

Rewrite each sentence out, placing the apostrophe in the
correct place to show a contraction of two words.

1) Its raining outside tfoday.

2) Theyre going to the cinema today.

3) Mary said, “Youve got a lovely house.”

4) Mum told me Ive got to be home by 7.



